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- printrules mult;

[ Mult(0, y, z) -> z,
Mult(S(x), y, z) —-> Mult(x, y, Add(y, z)),
Add(o, y) -> vy,
Add(S(x), y) -> S(Add(x, y)) 1]

- val mult’ = CM.context_moving mult "Mult" order;
transformation finished : 4[ms]

- printrules mult’;

[ Mult’(S(x), y, z) -> Add(y, Mult’(x, y, z)),
Mult’ (0, y, z) -> z,
Add (0, y) -> vy,
Add(S(x), y) -> S(Add(x, y)) 1]

6.3 UO4UOOO

0000000000000 00000000D0O00O000O0O0000 (OO0o0O0)UoD 100
0000000000000 0000000O0O0000O0O00UDOO0O0OO B)D0DOoOoOo0O0OO
0000000000000 000O0000oDOO0OpB)DD0bOODO00DOO0DUbOOOOOO
gboooboooboooboooboooboobooboobooboobodboboonbgxO
O0000x*00000000000O0O0000DOOO00OODO0OO0DODOObOO0ODOODOO
goooooooobo ooboboboboboboboboboboboboo

2000000000000 0000O00O00O000D0ODOO0O0OOOO0O0OOOObOO0 1800
googbuobooboobooooooob 1200000 4000000000 OOOOOD YO
gbooboobooboobooboobbobbooboobooboooboobb 2000
goobooboob4000000D0ODODOYDODODODODODODOODODDOODODOD
goboobooboooboboboboooooooobobobobobooooooboobOobon
gboooboooboobobboboboobooboobooboooboobooboobbob
gboobooboobooboobuooboobooboobooboobobonoboobon
gobooboooboboogoboboooobobooboobooobooboooooboobobooDo
gbooobobooboobboobuoobboobooboboooon
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U1.o000bo0booboobooboo

ooood ooooo

R 0000 |0000 ms] (D000 | 0000 [ms
oo o 0 X 0
0 o 2 o 0
oo (2) o 0 X 0
20 o 0 X 0
1/2 o 0 X 0
ooon o 0 X 0
200 © 0 X 0
ad o 0 X 0
ooon o 0 X 0
gono o 12 X 0
ooo o 3 o 0
oood o 2 o 0
oooooo o 106 o 0
oo x* oooooo x* 2
oo x* oooooo x* 2
oood o 0 x* 10
oooad o 0 x* 3
Member o 25 o 6
Subset o 5 o 6
ooooo o 236 o 0
ooooo X 2 o 0
ooooo X 0 o 0
Filter X 1 0 0
First X 0 o 0
Increment X 1 o 0
oo X 0 X 0

061 (0000).0000000000COOOO0 ROOOOOOOOODOODOODOODOOOO
godoooboobobbobodoouooon

Mult(0,y,2) — z
B Mult(S(x),y, z) = Mult(z,y, Add(y, z))
00000000000000000000000000000 ROoOoooood
, Mult' (0,y,2) — z

Mult' (S(z),y, z) = Add(y, Mult' (z,vy, 2))
0000000000000 0000RODOOOOOOO RFOOOOOO
{Mult’(o,y)—m

/!

Mult'(S(z),y) — Add(Mult' (x,y),y)
000000000 bO00o00booo0booooo0 100000 dMember 000000 OO
gooobooobooobuoobuoobuoobooboobooboobbobobobobobboo
doboboooooboboobobbtbodoooooon U
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0 6.2(000000000).
Suball(Nil,z) — z
N { Suball(Cons(x,xs), z) — Suball(zs, Minus(z,x))
000 Suball(l,z)0 0000000000000 00O0O0O00 MinusOOOOOODOOOO

0000000000000 0000000000000000000DL000000O000O RO
googn

, Suball' (Nil, z) — z

{Suball’(Cons(x,xS),z) — Minus(Suball’ (zs, z), z)
0000000000000 Minus(de,U;) 000000000000 ODOOODOOOOODOOOO
O00000000000000000 Re Fing Minus(Minus(z,y), z) = Minus(x, Minus(y, z))
000000000000 00000000000000 felseDD0OO0D0O0ODO ]

0 6.3(0000D0000D0).
R Cat(Nil,z) — z
B Cat(Cons(x,y),z) — Cat(y, Append(z, x))

gboogbooobooboobooboobbobbooboobooboboboboboboobob
000 ROUOODOO

[ Cat'(Nil) - Nil
Cat'(Cons(x,y)) — Append(x, Cat'(y))

dodotudododooouoootuooobooouooooooooooooboouooooao
000000 Append0000000000000000 40 Re Fing Append(Append(x,y), z) =
Append(Append(z,z),y) 00 000000000000 false0O0OD0O0OOOOOO O

0 6.4(0000).
{Minus(O,z)—>z
R = . .

Minus(S(z), S(z)) = Minus(z, 2)
Od0ooboddddoooodddoooooooooooooooooooDoooooOO RO 2
0000000000000 00000UD SxOoUo0ooUooo0oooooo0ooUooooo
ddbooboododooobooooooo 3o ooooooooooooon
dodooooooodoooouoodoooouoooooD oo oobLbooooooao
ooood OJ

065 (00000000O0O0OOOO).
R Maxlist(Nil,z) — z
B Maxlist(Cons(z,xs),z) — Mazxlist(zs, Mazx(z, z))

0000 Maxlist(1,0) 00000000 0000000000 ODO0OOOO0OOOOOOOOO
0000000000000000000000 Maz(z, Maz(y, 2)) = Maz(y, Maz(z, 2))00 O
0000000000000 Max(Max(z,y),z) = Max(x, Max(y,2z)) 000000000000
ggoooboboobbbtbddoooooooboboobooboobobbooddouoooonn U
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7T OQUoddddoooooooboboboo

oooobooboboooooboboooobbooooobbOU0 ROODODDODODOODOODOODOOOOD
0000000000000 00000000000 RO RUODODUDUOR OOUDOODDODOOO
gooooooobooooooooooooooooooono

gboboboboboobooooboooboobooooboboooobooooooooobooo

gbooopobooboobobooboooo
OO0 : 000000 s=t000000000000000000 ROODOOOODOOOODO 2F
OO0 :s=t000000000000DOC0O0OCO0O0 teeD0O00D0O0ODOOO false

1. 0000000000 REws=t000050000000000000000000O
uboboobooobbooooobboooooonboo

2. RO0OCO0OO0ODOODOODOOOOOOROOODODODODOOOLOOLOODODODOO
gobooboooobooobooboobbooboobobooboo

. 2000000000000000O00OO0DOOO0ObOObOOObOOobOO0OOobOOobOoobOOonoOn
00000000000000000000000000000000000000 ROO
gbbooboobbodgboobobuooboooboobod

4. 300000 ROOOO R Ew ¢ =¢00000000000 §,¢/00000 s,t00
0000 f(t,s)0000300000000000000OUODO (OODUDOUDOOOOOOO
f(t,s)00000000000000 CO0000 e000s=e000 f(H)0s#e000
Clf'(v),s) 0000000000000 00D0ODOO0OOO0ODOOOOOOO trueO false
gboboobogobboobooobobooboooboab

gbooboooboooboooboboobobobooboo200b0b0200b00b0D 34000
gbhbooobobooboboooobuobosgboboobobooobuobo0 40000b000b
gobooobooboo12b00bo0oobobooboobobooooboboooboobobooobooboobDoD
gboooboooboooboooboobuooboobooobooboooboobooboboobbon
gooogbooboobooboobooboobooboobooobboobobboobbon
true 00000000000 DOO0OOOOOOOOOOOOOO0O0
2000000000000 o000boobooboobooobooooobooooooboaonon
googbooobooboobboobobobooboobooboobooboooboobbon
gboobobogbuoobboobudoboobbooboobbooboaobobo
gobooboooboboobooooboobooonobooon

071 (000000000). 00000000000 OOOOO0OOO0O0OOOODOOOOOO0
00 Mult(z,0,0)=00000000000000 RAdDODOO)00ODOODOOOOODO

R Mult(0,y,2) — z
_{Mult(S(x),y,z)%Mult(x,y,Add(y,z))
oo boooobbbbbboooobbooobboooooobo
goobobOoboboobooobobobobDOob0oobUobOobooDooMutooono 20
Add(y,z) 000000000000 0O0O0O000O0000y=0000000 Add(0,z) =g 20
goobbb 000dbbbbtbdo0oobobobbboo0oouooDbbobboooooo o
gooobodoobooobbooboboobobboobboobobbobbuooboobooboo
gdooobobbbobbobtoodooooooon U
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0 2.0000000

googn gooooo |boo (oobo (ogoo
Plus(0,2) =« Plus 00 00 o0
Plus(z,y) = Plus(y, ) Plus 00 00 00
Plus(Plus(z,y), z) = Plus(x, Plus(y, z)) Plus oo oo oo
Mult(S(0), 2,0) =« Mult oo | oo | oo
Mult(z,0,0) = 0 Mult oo | oo | oo
Mult(z,0,0) = Mult(0,x,0) Mult oo oo oo
Sum(Cons(0,xs),0) = Add(0, Sum(xs,0)) Sum 00 00 00
Length(App(Nil, x),0) = Length(z,0) Length oo 0o 0o
Add(z,0) = z Add oo | oo | oo
Add(xz, Minus(z,x)) = x Add oo oo oo
Mult(x,5(0),0) =z Mult oo oo oo
Double(S(z),0) = Add(Double(x,0),S(S(0))) Add, Double 00 00 00
Double(x,0) = Mult(x,S(S(0)),0) Mult, Double | OO 00 o0
Half(Double(x,0),0) = x Double,Half | OO oo oo
S(S(Mult(x,S(5(0)),0))) = Double(S(z),0) Mult, Double | OO a0 00
Quot(z,5(0),5(0),0) =z Quot oo oo oo
Length(App(x, Nil),0) = Length(z,0) Length oo oo oo
Length(App(x,y),0) = Add(Length(z,0), Length(y,0)) Length 00 00 00
Sum(Cons(x,y),0) = Add(x, Sum(y,0)) Sum oo oo oo
Sum(App(xs,ys),0) = Add(Sum(xs,0), Sum(ys,0)) Sum oo oo oo
Rev(App(z,y), Nil) = App(Rev(y, Nil), Rev(z, Nil)) Rev oo oo oo
Length(zs) = Length(Rev(xs, Nil)) Rev oo oo oo
Minus(Plus(z,z),z) = x Plus 00 00 00
Mult(xz, Add(y, z)) = Add(Mult(z,y), Mult(x, z)) Add oo 0o 0o
Add(x,z) = Mult(z,S(5(0)),0) Mult oo oo oo
Quot(Mult(z, S(y), ) S(y),S(y),0) ==z Quot, Mult oo oo oo
Double(x,0) = Add(x,x) Double oo oo oo
Double(x,0) = Mult(S(5(0)), z) Double 00 00 00
Log(Exp(S(S(0)),x,5(0)),0) =« Log, Exp 00 00 o0
Length(App(xs,zs), Nil) = Double(Length(xs), Nil) Length oo oo oo
Suball(x, Sum(x)) =0 Suball oo oo oo
Rev(Rev(zs, Nil), Nil) = xs Rev oo oo oo
Tri(S(x),0) = Quot(Mult(S(zx), S(S(x))), S(S(0)), S(S(0)),0) Tri 00 00 00
Hal f(Length(Cons(0,xs))) = Length(Fir(xzs, Nil)) Fir 00 00 00

( Double(0,2) — z

R= ¢ Half(0,2) = z
Half(5(x),z) —

15

Double(S(z), z) — Double(z, S(S(z)))

Half(S(S (x)),z)%Half(m,S(z))
Odo0ooooooooooooooobooboobooooooobooooboooooooooooon
0000000000000 0000000000DO000000D00O0O0O Half(Double(x,0),0) —
+0000000000000000000 Half(Double(S(z),0),0)
ROODOOOOOOO DowbleDOODODO0D0D0O0O0OOOOOOODODODODODOOOOOODDOOOO
0000000000000000 Dowle,Half 0OO0O0D0O0O0O0O0O0O0ODO RROOOOOOO

072 (00000000000). 00000 Half(Double(x,0),0)=200000000000
oo RODOOODOOOOO

= S(z)000000000



00 Half(Double(S(x),0),0) g S(Half(Double(x,0),0) 00 00000000000000
gboodbooboobuoobuoobuoobooboobooboobooboboobbobLboo
goobooooooboooooooooooo [l

0 7.3 (000000000). 0000000000000000000000000000000
0000000000000000000000000 Double(x,0) = Add(z,) 0000000
000000 Double(x,0) — Add(z,2) D0 000000000000000 Double(S(x),0) =
Add(S(z),S(z))000000000000000000000000000000000000R
000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
00000000000000000000000000000000 O

8 Uubobnpogd

gobooboboobbobboobobooboobooboobooboobooboobo
goboooboobdobobooooobogbobobooooooboobobobobooboobOobon
0000000000000 000000O00000O00OO0O0DUODOOUOOO plcoOo0On
gbooobooobooboobooboobbobbooboobooboobonobooobon
gobooboooboboboooobobobobooooooobobobobobobooooobon
gboooboooboooboobooboboobbobboobooboobooooboboobobon
gboobooboobooboobooboobooboobooboobobooboobDbon
goooogog

gbobooboobooobooobooobboobboobobooboboobooobooooboooobon
0000000o000oOoO00o0oooO00o0ooO00o00U0Oo00nD 4ooo0ooooooooo
goboooobogobobobooooboooooboobooooboboboboboooooooobon
gbooobooobooobooobooboobbobboboobooboobooboboobobon
0@, 9000000000000000DLO00L0O00LULO0O0LDOO0DDOODLODOOOO
gboogboan

0d

goboobogboooboobbooboobooboooboboooboooboooboooboon
O00000000 253300040 2528002500 23500002 0 00000000000
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